‘;z:; I\ILoo ...................... 630 A | . 028/A
Feiae 16] [Total No. of Printed Pages : 19
.t Graph Paper
2324
’@% | - meEudlimryed o e 106723
& MATHEMATICS

mmon for Humanities, Science an iculture Groups
(Co for H ities, Sci d Agriculture Group
(Punjabi, Hindi and English Versions)

Time Allowed : 3 Hours : Maximum Marks : 80

| (Punjabi Velzsaon) EII%
B () it @5a-sdl @ zien B 3 for-ds) g-ds T i g femr-3s) due-35 028/A 7T
o7 I ‘ :
()  @5T-Uset B2 o fomr 2 B fre & 2 56 iy for e A 32 U3 0 2 Bl e T
(ii1) %—W%aaﬁw/@mgmmﬁ?aé%/wémﬁwml
(iv) AT yHs dgel a5/
(v) aBIBcT T TT3 HET I, uaméwe?ea?a?s’rwnae?al

(vi) a@aynaéma@ngmm@féu@a@am

(vii) Wa?n@fée’ffeaynzmajﬁ?ymemmaa/ fén&e?faﬁaawe?nﬁz?)%amajﬂ?f%ayms
HIT Hfenr ae |

(vlzz) yHS Hfewrt 5, 6, 8, 10, 12, 13, 14, 15 »3 16 %vmeaa?age?azf%ﬂae?az
(ix) YHE Al 11 &v»@uusae?ea?mﬁﬁl

Section - A
1. Jofod ymes R At €39 ge 1 - *E% 16x1=16
A [Cr] :
(i) |:-_b)| s|2||§| WMAHTSST T &H J.; - - 1
(a) JTA-EHTH MAHEIT (b)) T3 wEHES
(c) I8 NG (d) BIW & mAmEIT
1 ' [Turn over

028/A-SS




(i)

i)

(iv)

(vi)

e

ﬁ‘cl‘dP(A):E,P( )__ h{‘S’P(AmB_i:E I% It P(A[B) 59799 I :
@ - T e
© 2 B sl 2
P i e
/6$1n x +cost x
@ 5 ®) -
(. = @ 7
o 1-x2 =%
© 3 ® I
d2y ¢ sd
i) @@mmw—g 2=%43y=0 & faret 3
(@ 3 (b) 2
(0 1 (d o
2

028/A-SS

A

(a) r-—41—5] 8k+u[51+3] 32(

- A A A A
(b) 7T=—4i+5j+8k+pfdi

/\

3] 3k+p,(41 —5] SkJ

/\

*i

(©)

A

*J,

(d) ¥37- 3k+p.( 4?+5?—82)

It Yararifar mifrret St yfadar

(a) TINETE wSt Jurt I%

(b) TIHE T Jor T5

(c) A éﬁwaaaa@a@%ﬂwgag@?zrﬂa@was

(d) we-ae 35 w3t I Aeatdt I

A
™

It l]l:l
i

'_\ i

ERE
% -
m% L]



(vﬁ)ﬁﬁﬁ?ﬁﬁ%—fﬂﬁé&?ﬁﬁ?lgxz+mﬁ; ' 1

EEE - Ty
e @ - ®
© 1 4@ 0
(ix) "ed AB=C 3, fﬁaB”@C@ﬁwzxi‘ﬁswswé]ﬂwﬂfeﬁW%?A@w?f: 1
(@) 5%5 B 5x2
(©) 2x5 @ 2x2
sin7x £0 . | :
() T f(x)={3x 7 MEr=03ImEedITmeisI: 1
m+1, x=0 ,
@ 3 ® 3
7 3
(xi) ﬁaa'y=10g[x+\/x + }33” J: :_==_: 1
s G
x = 1
© . Jx2+1 : (¥ a2 £ '
' (xii) TS Tog WU 2 m/s S TIeB W o0 I | R AT St wue &1 w9 9 1
! (@) 4w m/s _ (b) 2m/s :
(€©) 2mm/s (d 4m/s
(xiii) #od A={0,1,4,9,16,25,. ... JISFN A, f(¥)=22 3 UfaTHs 86 J | 1
(@) fox-fx yg nisg &t (b) ms%uafea feaw:ﬁ ]
(©) wisg w3 fea-fea (d) & ag W3 & I fEa-fea
| (xiv) FHT A={x, y} 3 ufgeTiE HET R={(x @ ), (), @ NI 1
(a) = foa=d HEU =€a) 2B AHTHIET HET

(c) J<B AAIHE HET HHIS Ay

(xv) B86 sec™! ¥ femEd J :

I,

ol
i,
Juny

t

o

|

@ b= w0
o (-33)-© @ 10
(xvi) 9T A 8 4 x4 g &t garag Afgan I 713 |A|=3 T 37 |Adj(A)] I B 1
+ (8). 07 » (b) 81 '@’%
© 9 @ 3 _

028/A-SS 3 ' [Turn over



2. 35 fol 9uaT € YSt A 99 :
8x1=8

: o]
(i) JuT r=i—4j+5£+s(2?—3/]\'+2}?) émm 3 EI% ;
(i) VI I TB wes s 3 ;
(iii) cos~1(1) T HY WS ¥ ; :
(iv) WWA?@{4X23?%HA"@@{ ¥ : g
(v) 799 A T Zgarars Aeam 3 37 A—A' fig Atz 3 | :
(vi) 79 y=log(sinx) T3t x=" 3 W_ . :
&7 -dy
(vi) RNTIHG feedamtns ot yfafonr 31 1
: d%y (dy)? |
(viii) fsedsfms mitaas dl—g-(%) +y=0TqH T 1
EE

3. J% 184 qga Bt At A7 I3 I ¢ 8x1=8

() 2FeT 27-G+3k © WHIT m3 fdg (5, -1, 3) ¥ Bust Jur & mitgge 1
7=5'z‘\—?+32+u(2?—?+32] J1

(i) fa & wes & ST ot Hees oA 1 F I 7 1
(iii) ﬁHHA=[alj]4x3ﬁ"ﬂ'§a,-j=i2—j33+a31=103| 1
(iv) -dix[log(cosx)]=tanx - 1
(v) Had y=tan2x J 37 %=sec22x JI 1
(vi) jf2x3dx=8 afl 1
(vii) TSedeHins miTes, fideams ot 35 Jeh I6 | 1
(vil) 7 x p 25cd, 29T 4 T AN J | EE 1

028/A-SS 4



Section - B

. 5x2=10
mémm%ﬁwy2=8xn@Wx=sma%ﬂga@mwaél

5

88 f (1) =23 -3x2-12v+15 2 595 g yzr 3 | offio 2
: = Yoz
i m% ‘

H99 34322 432+ 3=81 3 37 %@aﬁl | ‘ 2
: X

sin ( tan~! x)

. |

dx ¥ HBE<S 99 |

1+ x2 3 . ' 2
A
sz—sd . a%
x .
2 TyEaE | 2
o[l 3 Yy e -, &
7 A= PR LU J5 37 (AB)'=B'A' €1 yz3B 34 | 2
5.1
N i AR AL - A A e ; o e A <
8. AT a=2i+3j-k M3 p=7—j+3k 3 I gAT TS g7 T HITeB UIT T | 2
. nu
A A A AA A Y B o : u. -
Tag deg pi+j+4k w3 2i— j+3k FI-TH'IBI TSI p T HB YIT AT | 2
'@% % Section - C . : 5x4=20
< 5x+3
9. fiwadfasssf:R—-R, f(¥)= feg-fog ni3 miag J | 4
o ; - _. dy = 4
10. 79T y=x5 %+ (sin x)* I I 2 Y]
A
[ 23”2 dx THSEE T4 | = 4
(x +1)(x—2) Ell*E]
. E 4
11, s Tt St GEarfitar mife § wrdy o 98 59 -

yf3eyu x+3y < 60, x+y =10, x— y <0,x20, y=0WEHT Z=4x+2y—7 T Wiua3Hiaas »3
IDSCESIESHCCH

urn over
028/A-SS ; [T



T dy )
. 1 —— 4 y==
13. I8 I epk 4ty xlogx

12. fea mifnm fds fefenraen § Jg g9

1/3,1/5’11’@’1/68?'51ﬁg@?@ﬁﬁ(i)m%@?ﬁgmﬁaﬁswﬁ(ﬁ)m )
Js I 7t 3 e

= # ‘
mwwgmlﬁmmw?sﬁm%%m@aﬁ,aﬁmﬁﬁﬁ’dﬁ@”aﬂﬁm%' 4

ugo.s%%:ﬁﬁﬁmﬁhmﬁ%gﬁﬁmmﬁmmmﬁvﬁlg'efema:-ﬁgfsaar
3 ifas eaer 9 ﬁwﬁﬁww%o.l%@@qaﬁglﬂﬁgmjaﬁmﬁﬁw

o5 Sienf Jfenr feniest 87 Sar St 2ot G s o 7 T S wrr
ﬁ%ﬁ!ﬁéﬁﬁ? : £ 4 <, A
.. | a0
e
4

h

I

"
il

Iy, I]I
) III
I

67

I8 9 : x2dy— (32 +xy +12)dx =0 fi¥gr 3 y=1J < x=19

4
Secﬁon -D : 3x6=18 |

14. (a) ﬁﬁﬁéﬁa—ﬁm’%&zﬁ:m@ﬁwlg’;as,;’,ﬂ‘b’,ﬁuaélfmmm?w 4

15. Ted 36 m St 379§ 2 it g Sfeomr famm | ¥ £ 7 g

il =l

b) o W33 T390 ot Gl 3t 22 67— 154 w3 § 45— 24 I R

E’% AH3d 93930 ST 9398 UIT S5 |
mEs

iy
I-
)

i(
. ull
/

|
e

%%&%H'%*%ﬁéf%walﬁé—u‘fegﬁ '

'

H
]
E .

lllll

- A A A AN A - f£5 A A A
r=31+8]+3k+p{31—]+k) w3 r=_i““z_—7j+6k+)\[—3/i\+2?+4llz]

I
N

!l
h

2 | |
TSI gR A s figdag 6
W#@%lééﬁmnﬁe?éa@aﬁmﬁﬁaammééaa@ﬁgagmﬁs@m
=2

U
f(;/zlogcosxdx T HBFS T | | 6
16. J5 fouft Rt mitaget &t yorat § Afean fatt o5 35 939 ' 6
Sx—2+2=3, 2x+y+3z=2, —x+5y—4z=15
= @%
g B .
(a) ﬂﬁaﬂ{i ;];Sfe“amrﬁﬁe?ﬂﬁaﬁ'___“ e fni-mifieet Mfeam 2 Sg e e 4
. P
(b) ﬁaaA=B f] M3 f(x)=x2—2x— :ia;:g”f,(A)U?aﬁl ' 2
028/A-SS e




EléEl
*
Es=

028/A-SS

(i)

(it)
(111)

(iv)
(v)

(vi)
(vii)

(Hindi Version)

a7 S-YaH F @ 78 W ﬁw-m/W-m ard @/ # fA99-Hie) TR-w

028/A 37V ferd |

SR-JRaT O & 5 U fire 8d o o 598 JE 79 Ak 32 YO E 0d 96 FA A&

%W#WﬁWW/W%WWWWW/mwwﬁW
! julied

et 7T ifrET § o

Sogpaiel HT IYFIT dfefd & Wc—flryﬁaaﬂmﬁmwm?‘/

mmiwmmﬁﬁmgl

WHW%##WW#WW??/ sqforu v fo Rt & a7ist 3 397 &1
&l T S |

(viii) ¥ TS 5, 6, 8, 10, 12, 13, 14, 15 791 16 #maﬂ?aﬁqzmﬁﬂs’?l

 (ix) ¥ §ET 11 7 e UF 1 394 S &1
. -
Section - A El%
1. frefafed g 3 @@ sw g = 16x1=16
@) la-b|<|a||b| STHHFRI T T Z= 1
(a) HIE-YIS STHATTA :_;_) [ERCESREIEG)
(©) Tt = STHAF £ &) oISl I ST
g rhde Y=Beped .
(i) X@ = 3 3 it Flew THIFT & 1
== A A A N A A
(a) r=41—5]—8k+p(5i+3]—3kj
(b) 7= 4z+5]+8k+p(5i+3]—3kJ
() 7= 1+3] 3k+p[4l—5
() P e 3k+p{ 4?+5jfj;§j
7 [Turn over



(iii) Fa e wrensi % yhemy . E
(a) eI o A E'%’
(b) W fEw R
©) mmﬁﬁm@mwwam%
(d) wﬁ—w?ﬂ?mém% :

3 ! '
(iv) HI%P(A)=5,P(B)=§ amP(AnB)=% € @ P(AJB) TR T 1
2 1 o
2 8
(@ 5 ®) =
2
© 3 @ 3
L cos? x .. | , '
) I%sm x+cosx I e R ' 1
@ 3 'ﬂ% ® 3
OREY @
IR B
‘ V(Vl) J.Ol—_x? W%: - 4 1
e g
Gl @ %
g
(vii) WW %x-g——z%+3y=0 +t feit ¢ : 1
@ 3 | (b) 2
© 1 (d 0
(viii) 7 a @ﬂr-fwm%a’r,;’xa Tt RLE 1
@ 1 B d) 0

-028/A-SS :



| (ix) ’Tﬁ«'AB=C%,aﬁBmcmrzzxsamsxsmaﬁﬁ@w%a‘(Amm%:

| (a) 5x5
| b) 5x2
ERE
| [‘Li%ﬁ ) 2xs d) 2x2
,;!’ sin 7x G
| () f(x)=1"3x g r=0 RammEAmFI = ¥
/ m+1, x=0Q
| 7
®.3 ® 3
it '
© 3 @ 7

(xi) A y=10g[x+\/x2+1J Ll % T

| @) Jx®+1 ®) 2y

b T 1
() 241 ' i @+ fx2+1

(xii) T I I A 2 m/s T X Y 9 W1 SHH! IR F og FI KL T

(@) 47w m/s (b) . 2m/s -
(c) 2mm/s (d) 4m/s
(xiii) A A={0,1,4,9,16,25,...} T f: N - A, f(x)=x> ¥ TRuIf@ % & :
(a) Thet R =BTl &l (b) TSI W Theht T
(c) Ukl T 3T=oTa1 (d) T THRT AU G ST
(xiv) WYE A={x, y} T TR T R={(x, 1), 0. 9), (4 9), (4, 2)} & -
(a) had TASErES Gy (b) A FHHG TR
(c) had Gk T (d) FHIE =Y
{xv) T sec™! I foR & :
(a) Mﬂ%ﬂ b) (O m
9 (-23)-o @ [0
(xvi) % A T 4x 4 5 T BR ATz & A [A]=3 T W [Adj(A)] F :
@ 27 : (b) 81
© 9 d 3
9

028/A-SS

[Turn over



Maximum Marks :ov = | | —

-t

2. Freffan s § areh wo iz gl
| - A ' ‘@-—; 1i
@ X r=i—4j+52+s(2?—3'}+22J Fhemogm____ T | |
(i) TFF IR R A et e w5 W gl 1
(i) cos M) MASATE Bl 3
(iv) qﬁﬁﬁaﬁA‘eﬂW4x2%?ﬁﬁﬁWA"§F: gl 1
() AT A R A-A T L A 1
(vi) € y=log(sinx) T x=T W dy _ : g1 ;
4 A =
(vii) THREH, SE%E B WH4T 8 1
d2 3 2
(vili) ST FHEHT a%—(%] +y=0 = %W 1 1
E4E
E--—I
3. Tr=fafad seEl & fau g€ an Tora saist 8x1=8
() Wi 27743k F WA A ﬁéﬁ 5, —1,3) ¥ @@ Y@ B wEHH 1
7=5?—?+3k+u(21—]+3k]%| _———:
(i) meﬂmaﬁaﬁﬁu@mmlﬁe@?&aﬁ%l 1
(i) T A=[aglyxs & T ay=12—j ¥ W ay =10 %1 1
(iv) —%[ng(cosx)]=tanx%| 1
(v) 9 y=tan2x B %=sec22x g 1
(vi) j_x dx=8 %1 E]% f‘== 1
(vii) 3TeRcl HHIRTT, mmqmsaﬁaﬁr%= 1
wii) 3T S, T 7 F R 1
028/A-SS (:



10.

11.

Section - B .

FHERT BRI LI 2 =8x Ao Y@l x =5 % e w8 &1 1 et T | - 2
He f(x) =223 —322—12x+15 % e[k fag T HA | El% 2
: 3t i
G 23+ 3x%y + 3xy? +17 =81 T % T U . 2
sin(tan_lx) . ’
e dx <R JeHisT U | 2
arerar
2x—3 . : ‘
[ O et | | 2
213 L ThL
wch:A=[4 : 0},B=0 2 | ¥ (AB)'=B'A' %I TSaEd H | 2
5 0
EE
e
i 227437 —k T gz?_yﬂﬁawgmaﬁa@ﬁgawmémw 2
reral
o o 14+ 4k T 27 ook TR T IR p LI 3
Section - C 5x4=20
Sx+3 -
fag F0 BFwe iR R, f(0)=—; T TN DT & .
d
At y =5+ (sin 7 E A o7 T A 4
arerar
I(zgx)” )dx 1 e | S
x?+1)(x—2 ' | S~
B
4

ﬁmﬁf@a%ﬁaﬁﬁmﬁﬁmaﬁmmmﬁl .
gfaei x+3y < 60, x+y=10, x—y = 0, x=0, yZO ¥ IER Z=4x+2y—7 <l R ICELLETL

e AHeR U |

11 [Turn over

028/A-SS



12. @W?ﬁqf@ﬂﬁﬁ%ﬁmﬁ%maw,faqaﬁgawﬁﬁ?@ml/&l/saml/é%' 4
Uﬁaﬁ!mwﬂ%: EkE
() S 7% % ST ¥ Fad U v w1 Ees
(i) FHE A € S R '

' AAAT .
Wmﬂﬂﬁwwm%m@ﬁﬁa%%W%‘,Wmﬁmwgﬁ' :
¥1 TG 0.5% T Pt e s 35 g 1 o e e A A €,

& e 7 1 7 Pt s 3 1% < e A e & A N ST & A AhA @
ﬂmmmwmﬁﬁ@a@naﬁm@aﬁﬁaﬁmm%ﬁmm%?

N

13. wﬁ: x10gx-3—]i+y=§logx ’ ' 4
3t .
BA H : x2dy — (3x2+xy +y2)dx =0 ; fem mn 8 y=1 59 x=1 Tl .4
| g% Section - D 3x6=18
14. (a) Foreh ot < A fam afEl & qon b % RO [a + b|<[a|+|b| FAG FA T SREARA 4
- M off T | ; |
(b) T TR TGS T W R GG W 67— F45k W T 457 -2k W@ TR E
| OER TGS T A T |
areran :
Frrefafaa Yt & Sie & o= =FAad i 9 w0 : 6

A A AN

AL RN \ Yy AGVTACS . A R s
=3i+8j+3k+p|3i—j+k|qy r=-31—-7j+6k+\ ——3i+2j+4k)

15. T 36 m @ aR h Q1 el H FI 0 U e § ol 9o qEk e A qu A S ) oA 6
T Y e 1d H Ak o A1 I Hl TR &R AT & |

AT
J'Zz logvcosx'dx ETWE{\II 6
16. Tyefafad as gl ot gore @ Gfeem fafy g g w2 6
3x—2y+2z=3, 2x+y+3z=2, —x+5y—4z=15
' JrqaT
. > B .
(a) m':—él Jﬁwm’ﬁ@aﬂﬁmwﬁw—wﬁaﬁ@w%mmm@l 4
1 2 : =
.(b) ?TFGIA=[2 J ﬁmf(x)=l2—2t—3=é‘?ﬁf(A)m$ﬁ| ‘@%‘E | 2
028/A-SS 12



(English Version)

Note : ()  You must write the subject-code/paper-code 028/A in the box provided on the title page of
‘ your answer-book.
(i) Make sure that the answer-book contains 32 pages (including title page) and are properly
‘@%@ serialled as soon as you receive it.
BI%= (i) Question/s attempted after leaving blank page/s in the answer-book would not be evaluated.
(iv) All questions are compulsory. ey
(v)  Use of calculators is not allowed bugiljé Tables can be used.
(vi) Marks allotted to each question ure,iil__z?dﬁ‘ated against it.
(vii) Punjabi and Hindi versions of questiqg_;;:are translations of English version. So in the case of
‘any confusion consider English ver§f§i£?o be correct.
(viii) Internal choice is provided in Quesfﬁimhts3 No. 5, 6, 8, 10, 12, 13, 14, 15 and 16.
(ix) Use of graph paper is necessary in éxgﬁorz No. 11. - '
Section-A
1.  Choose the correct options in the following questions : 16x1=16
e ) A
(i) Name of the inequality |a-b|<|a||b| is : ' 1
(@) Cauchy-Schwartz Inequality (b) Triangle Inequality
(c) Rolle’s Inequality -(d) Lagrange’s Inequality
. X+ y—:ii.,_:;z—8 .
.(ii) Vector equation of the line 5 3'__=. =y s 1
5 oA aoa (a o 083 Eym
(a) r=4i-5j—-8k+p 51+3]—3§_=_ o
- A A A A A ] A
(b) r=—4i+5j+8k+p/5i+3j-3k|
- A | A A A A A
(c) r=5i+3j—3k+p/4i—-5j—8k
- A A A /\ /} A
(d Tr=5i+3j-3k+p —4i+5j—8k
(i) Constraints of a linear programming pfoblem are : 1
(a) Always quadratic £
(b) Always linear E .
(©) May be linear or quadratic deper{difig on the problem @%
(d) May be cubic some times £ 3 _ _ Es=
E;m:
028/A-SS 13 [Turn over



iv . <1 :
() L P(A)=3,P(B)=2 and P(A B)=L then P(AJB) is equal to: e
8 5 S
o
@ < 8
? LT
: |
& 5
Ty d 3

(v) L/:; cos4 b

dl‘ is equal to :

™
Y= ™
@ 3 o
™
_— m
© 1 @ 7
CrEE, ol cdx EiE
(vi) _[0 o is equal to : ﬁ%
L T
@),y ®) 5
™ : "
© 3 @)z
i) D f differential equation ﬁ— 2—= y +3y=0 i
(vii) egree 0 e q =
(@ 3 (b) 2
() 1 (d 0
(viii) If : is a non-zero vector then I: X ;l is equal to :
e
@ | () [af?
€ 1 d 0
(ix) KAB — C where B and C are matrices of order 2X5and 5 x 5 Tespectively then order of
is :
(@) 5x5 (b) 5x2
g% ) 2x%5 (d) 2x2
14
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;X ; .
() If f(x)=1 3x 1s continuous at x =0 then value of m is : ' 1
lm+1, x=0
&
s
A= 7
4
a) =
@ 3 ®) 3
7 3
e , e
@ @
(xi) Ify=log|:x+\)x2+1} then%is: C | 1
. il
(a) X% +1 ’ (b) x2+1
4 : 1 '
—— ElEE
(c) 2 +1 | (d) x+«/x2+1 *E].E

(xii) Radius of a circle is increasing at the rate of 2 m/s. Rate of change of its circumference 1
8 '

(@) 4w m/s : (b) 2m/s
(¢)4; :2m.am/s (d) 4m/s .

(xiil) If A={0,1, 4,9 16, 25, ....} then function defined by f: N — A,f(x)=x2 i5 7 1
(a) one-one but not onto (b) onto but not one-one :
(c) one-one and onto (d) neither one-one nor onto

(xiv) Relation R={(x, x), (, ), (x, ), (v, X)} defined on the set A={x, y} is : 1
(a) Only Reflexive relation (b) Only Symmetric relation
(c) Only Transitive relation (d) Equivalence relation

(xv) Range of function sec lis: 1

T
(@ [0 —{5] ®) (O
™ : '
=20 0,

o (-Z3)-o @ o

(xvi) If A is a square matrix of order 4 x4 and |A|=3 then |Adj-(A)| is : 1
) 27 b) 81
(a) B .
(© 9 B (@ 3
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2,

Fill in the blanks jn the foHOng ’@%@
EE’E::% E- —

()  Direction Tatos of straight line ?=§.—E"‘i?+ Sk+ 5(2’ - 3] 7 2kJ

.. 4 O

(ii) Probablhty of a sure event is o

(ii) Principal valye of cos~1(1) js :::

(iv) If order of the matrix A js 4x?2 then order of matrix A’ is

V) If Ais a square matrix then matrix A—A' s a matrix.

(vi) If Yy=log(sin x) then at x=E,ﬂ
‘ 4 dx

(vii) Integraiion is process of differentiation.

0 | 3.
(Vm) Order of the dlfferentlal equation d;I;:; ) +y=0 is
. dx~ <\ dx
Ely Fn
¥ o 5E

[
I
Ll

8xl=8

8x1=8

()  The equation of a line parallel to the vector 57 _ ] +3% and passing through the point 1

- LA A
(5:'—1,8) is r=5i—j+3k+u[21—]-ﬁ3k).

(i)  Probability of occurrence of any event is always greater than 1.

(iif) If A=[az]yx3 such that a;=i?~j then a; =10

(iv) ad;[log(cosx)] =tanx 1

I

dy -
(V) If y=tan2‘x then Ex——sec 2x
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i) f_22 x° dx=8

(vii) Differential equations are solved by integration.
vii

Dy : [ =]
(vii) axb is parallel to a. ,% =
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Section-B

5x2=10
4. Using integration, find the area bounded by the parabola y2=8x and line x=5. 2
5. Find the critical points of function f (x)=2x3—3x2-12x+15. 2
OR
ElEE
. Y oy 2 e
Find % if x3+3x%y +3xy2 +13 =81 . A ;
sin(tan—1 x)
6. Evaluate : dx.
I 1+x2 : .
OR
25— 3
luat dx } .
Evaluate Ixz T | 2
g P O o
7aim I A= 41 0 ,B=|0 2 | then verify that (AB)'=B'A". : 2
B0 |
y hi3 2
E=
: : 5 : T s ST A Bl A )
8.  Find the area of triangle whose sides are given by vectors a =2i +3j—k and p = — j +3k-
OR

AA A AR A .
Find 'the value of p if the vectors pi+j+dk and: 24 — j+3k are perpendicular to each 2

other.
Section-C 5x4=20
hx+3 . ;
9.  Prove that the function f:R—>R, f (x)= is one-one and onto. 4
10. If y=x%"*+(sin x)* then find I
OR
Evaluate I fx 12 % ' g%? 4

(x2 +l)(x—2)
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11. Solve the following linear pProgramming problem graphically : “E]%
Maximise and minimise Z=4x+2y-7 subject to the constraints e
X+3y < 60, *+y=10, x—y < 0, x=0,y=0

=
|

o . . What i

12. A problem is g1ven to 3 students whose chances of solving it are 1/3, 1/5 and 2 it g

the probability that

(i)  exactly one of them solves the problem

(i) the problem is solved

| OR ,

A laboratory blood test is 99% effective in detecting a certain disease when it is in fact Presetnzi 4

However, the test also yields a false positive result for 0.5% of the healthy p erson}teshe

(ie. if a healthy person is tested, then, with the probability 0.005, the test W_ﬂ1 1mp I.y t; .

the disease). If 0.1% of the population actually has the disease, what is the probability thata

person has the disease given that his test result is positive ?
13. Solve: xlogxﬂ+y=glogx '@%@ ;3

“dx X [OEA
OR ,
Solve : x?dy — (3x2 + xy + y2)dx = 0; given that y=1 when x=1. 4
Section-D _ 3x6=18
14. (a) Prove that for any two non-zero vectors a and b |: + —b){ s|§| + [1_>)|- Also write the 4
name of this inequality.
; A A A A A A
(b) Adjacent sides of a parallelogram are given by ¢; — j+5kand ;45 j—2k- Find the 2
area of parallelogram. |
OR
Find the shortest distance between the following pairs of lines : 6

A

AA —) A A A A %
7=3?+8?+32+p(3i—j+kj and 7 =—3_i.—7j+6k+)\(—3i +2j+42j

A wire of length 36 m is to be cut into two pieces. One of the pieces is to be o

15.
square and the other into a circle. Whe_a@ co.ul.d be the lengths of the two pieces so that e
combined area of the square and circle is minimum ?
OR
% | ElE
Evaluate -[()/2 log cosx dx. = =
18
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16. Solve the following system of linear equations by matrix method :
3x—2y+z=3, 2x+y+3z=2, —x+5y-

. 3.7
xpress [, ‘o

12 = ‘
[2 1] and f (x) =x—2x -3 then find f (A).
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as the sum of a syiinetric matrix and a skew-symmetric matrix.




